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A SAID
33 dJIE2 A =4
el SAIZR|HESSER2E (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 760,855 794,187 A33,332
= 4,500
- 756,355
AI|IES TAl =4 81,960 53,930 28,030
CAZCIHE =B E2E 81,960 53,930 28,030
TAlZe[H & 76,430 47,630 28,800
201 =3 3,890 5,250 1,360
01 At22t2l] 3,690 5,080 21,360
OUE SHEAHASERIIE) 600,000 600
OZAHEEH A= 2,700
OZ2H SXI(MYX, Eclola)
700,000 700
OZ=ZH JtE2Nda & dl=aelHNE
2,000,000& 2,000
O=AA=ZH DA
50,0002 452 250
OBo4ol9iAs I8 BATBNE HA%
g 70,0008 x1H 23] 140
02 S3=gHl 200 200 0
OEXOISH &I Eoitiet 28
200,000& 14 200
202 04l 1,620 1,620
01 SLHoIH 1,620 1,620
o220l 1,620,000 1,620
203 HR=AH] 920 760 160
03 A= PR F&IH| 920 760 160
OF A2 HEE R FNES
920,000 920
207 ARl 70,000 40,000 30,000
01 H7ESH] 70,000 40,000 30,000
O A2 A= 28(HE)SS
40,000,000 40,000
OZAHEEEY =FEX 8 89
30,000,000& 30,000
CAAHERARE R 2E 5,530 6,300 ATT0
201 fet= 3| 5,530 6,300 ATT0
01 AtR2tc|HI 5,530 6,300 ATT0
O=g=g 5,530
OZAIAHEARZ =S
70,0002 * 17 H+32 3,570
OFAl - HE s+
70,0003 x 142 +23] 1,960
TEUA= ZADHE 36,246 147,152 110,906
= 4,500
T 31,746
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SAIT

. DEUsE TADHE
Rl O HeE 2l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HERIste 2te 36,246 147,152 A110,906
= 4,500
- 31,746
N MBS 2t 31,246 142,152 A110,906
201 fer23| 17,531 28,622 A11,091
01 AtR2t2|HI 11,408 10,640 768
Oou=tl 640
OG.B &3 22= 60,0002 x2& *43] 480
OG.B =53 N3t 40,0002 x2H #23] 160
Oggt=3=H| 10,768
OIS Ald= 22l
10,000,000 10,000
O=SAHI (ARSI HI)
8,000 1 +8A 12 768
2 S5=24g4l 6,123 17,982 A11,859
OOIEXt= Al 22l 3,723
OR"FU 1,568 #20H*4.5L*x2002 2,823
o=8= 150,000 *2CH 300
O=AXtl 300,000 *2CH 600
OZafeXiael &L= 2,400
oNIIR3 200,000& * 122 2,400
202 04t 2,800 2,800
01 =LHOHI 2,800 2,800
OZtUH OBl (Al ZHS B ADIRI)
20,0002« 12 *102+ 122 2,400
Ozl 400,000& 400
203 HR=H] 915 730 185
03 A=A =] 915 730 185
OfgHets HRFMES
915,000& 915
401 AIEHIX R0 10,000 10,000
01 A28l 10,000 10,000
OMNLHME RS 2R 22l SAHEIHH
of) 10,000,000& 10,000
MEHIE EXZAY 5,000 5,000 0
= 4,500
- 500
301 EtE NS 5,000 5,000 0
s 4,500
- 500
01 Al EEABZ2(2REEMR) 5,000 5,000 0
OMNL MBS FRIXIHAS (HFXIRHI)
1,000,000 54 CH 5,000
[ 4,500




SN ZAI
Hu: REUS AN

= O A

Rl O RS E 2 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
1] %
SAITH A 503,089 436,228 66,861
SAIA DBt ES 503,089 436,228 66,861
SAITHA 2ot 156,055 5,730 150,325
201 er23| 2,140 2,000 140
01 AtR22te|Hl 2,140 2,000 140
OgpragH 2,000
OSAIMAIY 28 Q14Hl S
300,000& *22 600
OZAITHA 22 MAIRIR Balag
70,0002 * 10 *22] 1,400
OSG4I 218 BATBNY HA+
¢ 70,0002 1%23) 140
202 O1H| 3,000 3,000
01 2L AL 3,000 3,000
OZ2|04H| 3,000,000& 3,000
203 B2 =L 915 730 185
03 AIM =LA R FAIH| 915 730 185
=LA =2 915,000& 915
207 ARl 150,000 150,000
01 IRg | 150,000 160,000
OUATIMAIY 22 L B85 48
150,000, 000& 150,000
[I2S SFNUE 29 07,528 163,120 55,502
201 fet= 3| 31,400 50,800 19,400
01 AF22t2ltl 7,800 7,200 600
OBEAME 2HH L AHS 7.800
O=2ZH| 200,000 128 2,400
O=AD| 2 ZEH LNE
450,000& * 122 5,400
02 S3=gl 3,600 3,600 0
OBBNAME ST2H|
300,000& * 128 3,600
03 A2 I 20,000 40,000 220,000
OFRIZ0 2 222s DS
20,000,000 20,000
301 LtENZ 76,128 112,320 A36,192
14 DBt 2 a3 76,128 112,320 N36,192
OBBAME 20 88 76,128
oz0/ulold 122,000 x2F+312 76,128
S+ TAHAEXZME 2 138,956 168,288 N29,332
201 =3 37,928 53,568 N15,640
01 A2t 10,728 11,568 AB40
OZAITHMXI S HE 2tel 9,960




A SAID
X-I;_(H: EA'XH/(\DH
Rl DAY JlgtEd (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZABTIZHES el
500,000 « 12« 104 & 6,000
O=AIYXE 230,000« 12« 104 & 2,760
ORC1&H 4| 100,000 122 1,200
OSABI(AIRILEATIH)
8,000 +BAIx1EH =123 768
2 5234l 7,200 12,000 24,800
OFAMNYXAHME =29 7,200
03323(HJ], #&, HY S)
300,000« 122« 104 & 3,600
O AITHA S=el& szl
300,000 * 122 3,600
03 Ar=EHI 20,000 30,000 10,000
OSAITHA T2 3 AFZH] 20,000
OFAMEHAIZES 5,000,000& 22 10,000
OFANY =Agdst T2
5,000,000& 22 10,000
202 04l 2,400 2,400
01 2LHoIH 2,400 2,400
OZLHOBI (AL EADIHI)
20,0003 x1Z+102~ 122 2,400
301 EtE N = 76,128 112,320 N36,192
14 DBt 2 a3 76,128 112,320 A36,192
OZAIMdXZHEH d2018 22 76,128
OZCIUIOIH gs+Y
122,0003 312 +2&H 76,128
307 elztol & 20,000 20,000
02 LB HAHE L 20,000 20,000
OoulFHEx 20,000
O=Ys HUHAEE 23
20,000,000 20,000
405 AtatE=H 2,500 2,500
01 Tt =S F=HI 2,500 2,500
OXtet & 2EFSHI 2,500
OSAIHMXZEEH “ES 7Y
2,500,000& 2,500
SN20H01480t 22 82,790 82,530 260
201 er23| 82,790 81,800 990
01 AtR2t2|HI 69,440 62,720 6,720
OSAZHIIAE It 2tel 69,440
(©FPNy=3 4,620,000~ 122 55,440
0425 s 74 & 2
2,000,000& 2,000
(OFsEA=2=:1:]] 440,000 12& 5,280
OS1ZHl S| 160,000& * 122 1,920




M ZAID
S CAINA

SRl AT JlgtEl EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ogtdae| =2 400,000& 123 4,800
2 s5=34l 13,350 19,080 A5,730
Osd 2 aEI 29 13,350
03323 (d)], =&, dHU )
1,000,000& ~12& 12,000
SX2ed (a2l g9 5)
1,100,000& 1,100
Ogx=thet SHalt| 250,000 250
CAHEAIE =Al2e 17,760 16,560 1,200
201 Zet=3h] 17,760 16,560 1,200
02 S3=gHl 17,760 16,560 1,200
O ATHEAIE X2l 17,760
o03323(dIl, =& )
900,000 * 122 10,800
OATE=4H| 5,400,000& 5,400
OAEDIZ AYOHEBIR| (U2
130,000& 122 1,560
HH =S 3 139,560 156,877 A17,317
el HH|(Z Al 86,688 90,193 23,505
el 2ad| 86,688 90,193 23,505
101 @124H| 86,688 90,193 23,505
01 2= 68,420 72,448 N4,028
Oz=z22=¢ 68,420
OAL222+E
12,5312 #36A| 2H+ 138« 123 68,420
02 JIEtM == 18,268 17,745 523
Ozxu=z2e=g 18,268
QAIZAZ24E(LEHIIM 73)
11,3192 +30A1 2+ 1H* 123 4,754
OAIZIIZ2S(LEHIIIX 85)
10, 1623 x35AI 2t 1+ 123 4,269
OAIRAZ R4 (AIZMIADIIR 2t=)
10, 1623 »18AI 2t 1= 123 2,19
OAZIZR4=Z (AIIEEYDIH O01=2)
9,620 x18AI2H* 18123 2,078
OARZRE(EY)
11,8372 +3BAIZH1H+ 123 4,972
Jl2ZHI(SAIL) 52,872 66,684 13,812
JI23Hl 52,872 66,684 13,812
201 2= 20,352 20,244 108
01 AtR2t2lt] 20,352 20,244 108
OJIZ2 A2/l 21,0002 x18F~12& 4,53
OSZHAESAHI
8,000 x 172 +8A!x 12 13,056
O=AD| gtz 230,000 < 1CH*12& 2,760




A SAID
LT EEETE
ool J1=2ZHI(ZAIL) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
202 04l 29,280 43,200 213,920
01 2LHoIH 29,280 43,200 213,920
O Lo (M &)
20,0003 x 16 ~72L* 122 26,880
OZtUodI(#E)
20,0002 x 1 *102+ 122 2,400
203 gF=4| 3,240 3,240
M EASHLRFAH 3,240 3,240
OJIEH(20Z0l3t) 300,0003 x 122 x90% 3,240




